Unit 1:  Demand and Supply

Demand:  The amount of products/services that consumers are willing to buy at different prices.  In general consumers will buy more products when the prices are low, and less products as the prices go up.

Example:   A group of 25 students was surveyed to find out how many would buy a chocolate bar at different price levels.

	Price per bar:
	Quantity demanded
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    Unit 1:  Demand and Supply

Supply:  The amount of products/services that producers are willing to offer for sale (supply) at different prices.  In general producers will supply more products when the prices are high (ie. more profits), and less when the prices are low.

Example:   Cadbury’s was asked how many chocolate bars they would be willing to offer for sale at different price levels.

	Price per bar:
	Quantity supplied

	$1.25
	 100 bars

	$1.00
	  80 bars

	$0.75
	  60 bars

	$0.50
	  40 bars

	$0.25
	  20 bars
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                                                                                                               Quantity supplied
Looking at both graphs:
Price
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If the price is set at $1.25:

The quantity demanded by consumers = ____________________

The quantity supplied by producers    =  ____________________

There would be:

a) too many chocolate bars (surplus)  

b) not enough chocolate bars (shortage)

c) exactly enough chocolate bars to meet demand

What would happen to the price?

If the price is set at $0.25:

The quantity demanded by consumers = ____________________

The quantity supplied by producers    =  ____________________

There would be:

d) too many chocolate bars (surplus)  

e) not enough chocolate bars (shortage)

f) exactly enough chocolate bars to meet demand

What would happen to the price?

What would the best price be so that the demand is exactly equal to the supply?

